+ T i B & (34 1)
i B, 7 0 v 2 B TRBE X 0
Vi= (2.110 + 3.470 ) X 1/2 X 10. 00 27.90 | m3
V2= (3.470 + 1.090 ) X 0.5 2.28 | m3
V3= (3.470 + 1.090 + 0.00 ) X 1/2
X 1.43 3.26 | m3
> 33.44 | m3 33.4
et LT
V= (1.122 + 1.088 ) X 1/2 X 10. 00 11.05 | m3 11.1
WAL B X L v
V1= (0.750 + 2.270 ) X 1/2 X 10. 00 15.10 | m3
V2= (3.470 4+ 1.090 ) X 0.5 2.28 | m3
V3= (3.470 + 1.090 + 0.00 ) X 1/2
X 1.43 3.26 | m3
> 20.64 | m3 20.6
sy
V= 33. 44 + 11. 05 - 20. 64 / 0.90 21.56 | m3 21.6
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7y 7L
A=A JEFRX L0
A= (2,60 + 2.67 ) X 1/2
9.70 25. 56
> 25.56 m? 25.
HIARS ViI= (0.576 + 0.603) X 1/2 X 9.70 5.72
(RC-40)
> 5.72  m® 5.
Kk = A= (2.277 + 0.060) X 1/2 X 9.70 11.33 | m?
(VP ¢ 50)
N= 11.33 =  3.00 = 4.00 &
L= 4.00 X 0.51 2.04 m 2.
WHIBEIERS | A= 0.30 X 0.30 X 4.00 0.36 m? 0.
(300X 300X 30)
H Hikt Al= 2.635 X 0.450 X  2.00 2.37 m? 2.
(R BEAEEE B HOBR, t=10mn) KIZHSL2. 635
FERET JEBRX L 0
V=" 9.70 9.70  m 9.
Kt T JEBRX L 0
V=" 9.70 9.70  m 9.
/ha Ik T IEAIET XY
V=" 0.69 0.69 m3 0.
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720
v PR 7 H =V iVARE~'§ =
27—k~ V= { 0.100 X 0.270 + ( 0.270 +
(18-8-40BB) 0.100 ) = 2.000 X 0.420 } X
10. 000 = 1.047 @ m°® 1. 05
Tl o A= ( 0.270 4+ 0.100 ) X 10.000 = 3.700 | m? 3.70
HLarzU—hk V= 0.720 X 0.100 X 10.000 = 0.720 | m® 0.72
(18-8-40BB)
¥ LR A= ( 0.100 + 0.100 ) X 10.000 = 2.000 | m? 2. 00
H Hiks A= { 0.100 X 0.270 + ( 0.270 +
AT L, ¢ =L0nm) 0.100 ) = 2.000 X 0.420 } X
2. 000 = 0.209 | m? 0.21
IR¥EL A= 0.720 X 10.000 = 7.200  m? 7.20
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420 200
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a7 Y—K V= ( 0.420 X 0.170 = 2.000 +
(18-8-25BB) 0.200 X 0.170 ) X 10.000 = 0.697 m® 0.70
Tl o A= 0.170 X 10.000 = 1.700  m? 1.70
H ks A= ( 0.420 X 0.170 = 2.000 -+
HE 5T FL M, € -1 0m) 0.200 X 0.170 ) X  2.000 = 0.139  m? 0.14
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170

2,880
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05872

I
204 956 | LSEJ st
| 1760 | e
v PR it H BAT =
27—k V= { ( 0.620 + 1.760 ) = 2.000 X
(18-8-40BB) 2.850 — 0.804 X 2.680 +— 2.000 }
X 0.300 = 0.694  m® 0.69
gy A= { ( 0.620 + 1.760 ) -+ 2.000 X
2.850 — 0.804 X 2.680 +— 2.000 }
X 2,000 -+ 2.80 X 1.077 X
0. 300 = 5.549 | m? 5.55
XA 1,077 (1:0.4)
IR¥EL A= 0.956 X  0.300 = 0.287 | m? 0.29
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(M-30, t=100) A= 7.16 7.16  m? 7.2
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
No. 0 No. 0 0. 00 0. 60 0. 60
10. 00 0. 60 6. 00 0. 60 6. 00
No. 1 No. 0 10. 00 0. 60 0. 60
1.93 0. 60 1.16 0. 60 1.16
No1+1.93 | No. 1 1.93 0. 60 0. 60
&t 11.93 7.16 7.16
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SR BT SEmEmX LY
(FA77 A R) L= 0. 82 +  11.93  +  0.60 = 13.35  m 13.
(t=15cmLL F) No. 0+No. 0~No. 1+ 1. 93m+No. 1+ 1. 93m
AsHUEE L AsHUE UlfgstEE LY
A= 9. 57 = 9.57  m2 9.
RaEIEE L V= 2.600 X 0.450 X 0.200 = 0.23 m°® 0.
(%7 v v 7 M)
TEHRALER T
FRIEH AsEUEL LV
(AsH) V= 9.57 X  0.05 = 0.48 m® 0.
WALy AR (AsBR) XV
(AsH) V= 0. 48 = 0.48 m® 0.
O MEEYEBEE L L0
(HEfGColl) V= 0.23 = 0.23 m® 0.
WALy AR (CoBl) XV
(HEfGColl) V= 0.23 = 0.23 m® 0.
H— R L — g SEmEmX LY
(Gr-C—4E)) L= 12. 00 12.00  m 12.
A EWR  N= 1. 00 1.00 | [A] 1.
(H—FL—)
A7 57 = 12.000 X  0.0164 = 0.20  t 0.
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(m) (m) (m?)
No. 0 No. 0 0. 00 0. 82
10. 00 0. 82 8. 20
No. 1 No. 0 10. 00 0. 82
1.93 0.71 1.37
No.1+1.93 | No. 1 1.93 0. 60
&t 11.93 9.57 0. 00
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